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The kinetic' energy of electron in
hydrogen-like ionis '
(A Kzer
B) KZe2r
(C)y —~KZelr

(D) - KZer

2 g of a radioactive isotope afterone

: 4

“day reduces to 0. 25 g. Its haif-life .

penodts
(A) 3h
(BY '5;h |
© 8h
(D) 6h

Given the statements

(i) n anlrreversible work cycle the
entropy.of the system remains
t,onstant '

(i) T he dlssolutton of CuSQ, in
water is a reversible process.

(i} Enthalpy is an extensive
property.

) In a closed system the
exchange of energy between

the system and the surrounding '

is permltted
- The correct statements are:
A (i)and (i) -
(B) (i) and (iv)
(C) (i) and (iii)
(©) (i)and (v)

QS - 3AM2

(2)

5.

The variation of enthalpy of reaction
with temperature is given by

(A) Arrhenius equation

(B) Kircnhoff's e:quetion '

(C) Hess'law .

'(D) Claussius-Clapeyron equation

Maxwell relation is (95/0V); =
(0P/aT),,. Hence, for one mole of
ideal gas (9S/dV) is equal to :

@ PT

(B8) S/P

cy TP

© PT

Examine the statements given

beiow

(i) As temperature approaches |

zero C =0 and C,—0.

(ii‘) Entropy of all solids equal to
zero atx 0°K.

(i) The absolute entropy of an
element is always positive.

The correct statements are:

(A) (i) and (ii)

(B) (i) and (iii)

(C) (i) and (iii)

(D) Only()

Contd.




QS - 3A/12

Which of the following characteristics

of édsorption is wrong ?

(A) Adsorption on solids is
“reversible in nature

(B) Bofh enthaipy and entropy of

adsorplion is negative
(C) Adsorption is generally

salective in nature

D) Adsdrption in general

increases with increase of

temperature

Which of the graphs drawn in the
following is a straight line, if Kis the
rale constant for reaction ?

{A) kversusT

(B) 1ikversus T

(€)
(D)

log k versus 1T

fogkversus T .

The equivalent conductance () and
molar conductance. (4 ) of potash

alum are related as
B A=Ay

B) A=a L2

C) a=n M6

(B} A=a /8

- (3)

10.

1.

12,

(©)

Zinc is coated overiron to prevent

(A) Zincis less reactive than fron
B) E°@Zn?, Zn)>E° (Fe**, Fe)
(C) E°Zn®*, Zn)=E°(Fe?*, Fe)
(D) E°@Zn**, Zn) <E° (Fe?*, Fe)
The S and L valueé of 180 atom
respectively are |

(A)
(B)
©)
N

1:':énd 1
tand 0
Oand 1
Dand0

X-ray diffraction dogé_s not give any

structural information for ; 7

(R
®)
(©)
(D)

Metallic solids
| léljic_splids o
Amorphous solids

Molecular solids

The high -_temp_érature limits of

vibrational partition functions

@=hvik):

(T/0)e~ M)
(T/e)e~%2T)
02D

e~

(A)
(B)

(D)

(Turn over)




14.

15.

6.

The probability that a particle ina one
dimensional box of fength a is found
tobe betﬁeen O and a/2.

(A) 1.0

(B) 0.75

(C) | 0.5

(D) 025

At high pressure the fugacity
coefficient of‘a i'eat gas is greater

than one, because :

| (A) Attractive term overweighs the

repulsive term

{B) Repulsive term ovarwaighs the

attractive term

(€) Repu!sive termis equals to the

attractive term

(D) The system is independent of
both the attractive and repulsive

term

Given the following two relations

(1) x,dp, +x,dp, = 0and (i) x,dV, +

x,dV,, = 0 for a binary liquid mixture

at constant temperatu're and

Ppressure, the true statementis that

(A) _ Both the relations are correct

Q8 - 3AM2

(4)

17.

18.

19.

(B) Relation (i) is correct, but {ii) is

not
{C) Relation (ii) is correct, but (i) is
not

(D} Boththe relations are incorrect

For the spin angular momentum
ladder oberator S L = S e y the
commutator (8,8, ) is

(A) - &S,

(B) -~ hrS_

(C) hS_

(D) 28,

The packing fraction for'é simple

cubic lattice is close to :

(A 0.94

B) 0.76
(C) 0.52
(D) 0.45

If the wave function of a particle in
one dimensional box of length.a is
1|1(x)"-= Asin(mva) then Aequai;«s fo!
A) (212

®) (@ay™?

©) (2"

(0) (a2

- Contd.




20.

21,

The simple ground state VB wave
function for HCI is written as Yy,

(1 o W (3p,, 2)+ Bwhere B stands

for:

A w3, 2 vg (1 )

B) v, (1,2 @, 1

(C) w14 2w Bp, 1)

D) g1y 1) vy(3s.2)

Heat capacity ;_>f a species is
iﬁdependent of témperature ifitis ; |
(A) _Tetratdmic
(B) Triatomic
(C) Diatomiq
o .'(D).. '-Monoatomic
22. For a trial wave fu,nciioﬁ W=Cp, t
- C,0, of a system the matrix
elerﬁents for the Hamilitonian are
<(p1IHI(p1>‘-;':--1,<cp2IHI<pz>=‘1,
: é(p1IHi(pé>=1r =<(pzi'HI(p1’>
Approximate ground state energy of
- the sysferh from linear variation
principle is :
(A =10
B) +1.0
QS - 3A/12

- 24.

25.

() +2"

(D) - 21]2 '

The electric dipole allowed transition
among the following is © |

@ *-°D

® 3%

©) -
©) 3s-1F
The correct AG for the cell reaction

involving steps :

 Zn(s) - Zn?* (ag) 26~ and Cu?*(ag) +

26 — Cu(s}is:

(A) AG®°~RTIn(a

Zn2+ cu?+)

(B) AGC+RTIn(a

Zn2+ cu(s)+)

(C) AG°+RTIn(a

Zn2+ cu2+)

(D), AG° ~RTIN @,0/2,2,)

Zn{s) ~cu2+

{f the concept of half-life is

| genefalized to quarter-life of a first

order chemical reaction, it will be -
equalto:
(A) In2k
() Indk
(C) 4k
(D) 14/

(Turnover)




26,

27.

identify, from the following the correct

fenic strength, for (a) 0.01 molal

 solution of NaCl and (b) a 0.01 molal

solution of Na, 50, :

(A (#) .010 mol kg™ (b) 0.010
mo! kg”’;'

(B) () .010 mol kg~ (b) 0.030

" molkg™!

(©) (@) 010 mol kg™ (b) 0.025

mol kg"‘

. (D) (a) 010 mol kg™ (b) 0.015

molkg™

The inter planar distance (in unit

RN ST
of A) for (1 0 0) plane ih a cubic

éi‘r_.t;.ri"éturé with the lattice pérameter

o
CofdAis:

GV
(B) 2
©) 4

) 8

QS 3A/12

28,

29,

The rate equation for the reaction, -

2AB + B, — 2AB, is given by
Rate = k [AB) [B,). A possible
rmechanism congistent with this rate

law is :

(A) 2AB +B, —_; 2AB,

' fast
~(B) AB+AB === AB,

slow

AB, + B, = 2AB,

slow

(C) AB+B, ——"AB,

AB, +AB % 2AB,
(D) AB+B, === AB
stow

AB, + AB —=—> 2AB,

Which is the correct Nernst equation

- for redox reaction O + ne ¢»> R :

(A) [OVIR] = exp {(WFIRT)E - E)
(B) [OVIR] = exp (- FIRTYE ~ E%)}
©) [RVO] = exp {(nF/RTY(E ~ E%)

(D) E=E%{(RTIF)In{(OMR])

Conid,




30,

31

32.

QS ~3A/12

Work (w) involved in isothermal
reversible expansion from V. to V. for

nmoles of anideaigas is .
A)
(B)
©
(D)

w==-nRTIn(V V)

w=nRT (V)
w=-nRT(V/NV)
w=nRTIn(V/V)

A plane of spacing d shows first order
Bragg diffraction at angle 6. Aplane
of spaéing 2d show Bragg diffi action
at:

(A) 20

(B) 02

(©) sin"Y{sin/2)

(D) sinY(sin20/2)

The angutar momentum operator L.,
is:

_‘i_i_[ PR

(A) o ‘

LiN
2n |

h [Zi : Q]
2im| “ox oz

(B)

(C)

(D)

- (7)

33. The most probable value of r fof an

34,

(V)

electron in 1s orbital of hydrogen

atomis :

(A) a2
® a,
(©) 2",
(D) 3ay2

Given the statements :
(i) -Anasymmetric molecule does
not have any symmetry

_. elements.
(i) | A disSymmetric molecﬁtule may
 have some symmetry element.

(i) The necéssaw and sufficient
condition of optical activity is
non-superimposition of mirror
images.

Tris-chelate metal complexes

are optically active.

The correct answer(s) is / are

following: -
A
(B)
(€)
(©)

. Only (i)
Only (i) and (i)
Only (i), (ii) and i)

All of the above

(Tumn over)




35.

. 38,

{C)

The order of stability of carbocations

is

3°>2°51°

8) 2°>19>3°
10>30>é0

19>2%>3°

(D)

Which of the following represents the |

correct relative bond polarities ?

(A) CF>C-0>CN<CE

(B) C-F<C-O<C-N<C-C
(C) C-F>C-0>C-N>C-C

C-N=C-C

(D) CF>C-0>

The first person to separate a

racemic mixture into individual

-~ enantiomers ;

(A J.H. Van'tHoff

(B) '.L. Pasture

(C) H.E.Fisher

- (D) F.Wohier

8 - 3A/12

38.

39.

40.

. (B)

The averagg end-to-end distance of
a random coil polymer of 10‘3
monomers (in units of segment
length)is:

(A) 10°

B 10°

104

10°

©)
(D)
In the IR spectrurn p-nitro pheny!
acetate, the carbony! absorption
band appears at :

(A} 1670 cm™

| 1700 cm™

(€) 1730 cm™

(D) 1760 cm™!

fhe correct order of acidity of the
cdmpounds A BandCis:

\ e
x:’f? Gﬁ% P
A C

Ay A>C>C
(B) B>CA
(C) C>A>B
(D) B>A>C

| Cordd,




41.

42,

® - . )\ oM

In the "H-NMR spectrum recorded at
293 K, an organic compound

(C3H7NOQ) exhibited signals at 6 7.8

The compound is :
| 0
(A) //U\\~ '

H NMe,

H

H
/)\“\

(B) Me\;\

N e

©) Me.
N

H

OMe

NH
Me e

The major product formed in the

following reaction is :

1.Me2NCHO, POCl,
X H0"

H
CHO

®

QS - 3A/12

(1H, s), 2.8 (3H, s):and 2.6(3H, s).

(9)

ph' CHO Ph

(B) OHC._~.
| N

| H
(C) Me,NOC._
O- A

H

'CONMe,

(D)

In the following reaction, structure of

B and the rmode of addition are :

OH

OLi

(A) /“—"SY_Re-Si facial
OLI
(B) Re-Si facial
Li
© Re-Re facial
oL

| (D)_ /_;Srsi-Si facial

( Turn over)




44. The major prgduct formed in the 45. The IUPAC name for the COIT\QDUnd

. . . iven below is
following reaction seguence is : g

1. LIAIH,, E4,0,-200G gH b
2. AC,0, Py :

3. Me,CuLi,Et,0 | /\//\//\/

[

(A) (2R, 3Z)-7-phenylhapt-3-en-2-ol
(B) (28, 32)-7-phenylhept-3-en-2-ol
(C) (2R, 3E)-7-phenylhept-3.en-2-of

A) (D) (28, 3E)-7-phenylhept-3-en-2-ol

46. Among the following dibro-

mocyc]ohaxahes the one that react -

is

Me : ’ 4
" ' A Cﬁ; Br
Jo¢

(B)

O
‘&Q/
Me Q fastest with Nal to give cyclohexene

QS - 3A/12 (10) | Contd.




47. In th_e'compound given below, the 49, -Th‘e- following photochemical

hydrogen marked A and B are :

(A) Homoatopic

(B) lisotopic . -

(C) Enantiotopic »
- (D) Diastereotopic

48. The reactive intermediate involved in

the following reaction is :

. | ™~ NaNH
ERS Q10
H , §

- Me

(A) A free radical
(B) A carbocation”
(C) Aquinons

(D) Anarvne

QS - 3A/12 (1)

50,

conversion proceeds through :

(A) Barton reaction

(B) Paterno-Buchi reaction

+{C) Norrish type | reaction

(D) Norrish type Il reaction

_The_,__major _brgduct formed in the

oo reaction of styrene with an excess of

lithium in Liquid aimmonia and -

butylalcohol is |

( Turn over)




51, The following reaction proceeds

througha:

D210

CHO
(A) 1,3-sigmatropic rearrange-
ment

(B) 2,3-sigmatropic reérrange-
ment

(C) 3,3-sigmatropic rearrange- 54.

ment
(D) 3,5-sigmatropic rearrange-
ment
52. The number of nodes presentin the
' highest occupied molecular orbital of
1,:3, 5-hextrine inthe ground stateis :
(A) 'One
(B) Two
(€) Three
(D) Four
53. The constituent amino acids present
in the following dipeptite, res-

pectively, are :

LCOOH
H .
. \\\\\\‘ NH2
H,N .
O COOH
(A) (R)-aspartic acid and (S)-

lysine

Qs - 3A/12 ' - (12)

55.

(B) (8S)-aspartic acid and (R)-
lysine

(C) (R)-glutami_c acid and (S)-
arginine |

(D) (S)-glutamic acid aﬁd (S)-

arginine

L-DOPA_'is used for fhe treatment |

of :

(A) Tuberculosis

(B) Parkinson’s disease
(C) Diabetes

(D) Cancer

The number of = etectroné :
.partic.:i-pating énd pericyclic mode in
the following reaction are :

(A) 4 and conrotatory -

(B) 4 and disrotatory

(C) 6 and conrotatory

(D) 6 and disrotatory

Contd.




56. The correct order for the rates of . (B) (1yand (3)

electrophilic aromatic substitution of ©) (1) and (4)
the following compound is : 4
‘ (D) (2)and (3)

_ ME
@:? @ 58, The correct order of the size of S,
\ ‘

Ve §%~, 8%* and S** species is :
‘ I i

(A) S>8%>g%s>g2

A) 1>1>10 | (B) S>5%*>gtsg>

®) It>1>10 | . (©) s*s>s>82sgtt

(D) I=H>1 ‘
59. The five d-orbitals of a metal have

57. Consider the following statements :
‘ proper symmetry to form the following
about cis- and trans-decalins : '

. : bondé. when bonded to a similar
(1) cis-isomeris more stable than

trans-isomer atom:
(2) trans-isomer is fnore stable 7 (A) One o-bond, two n-bonds and
' than cis-isomer | ' two &bcnﬂé
(3) trans-iso'mer undergoes ring (B) Two G—bohds, o i-b onds and
T | one Sibond

(4) cis-isomer undergoes ring : ' :
(C) Two o-bonds, one n-bond and

flip
' , two §-bonds
The correct statements among the o '
above are . (D) Oneo-bond, threen-bonds and
(A) (2)and (4) ' one §-bond

QS—.SA/‘[Z (13) - (Tum over)




60. The CO siretching. frequencies of

61,

62.

QS ~ 3A/12

[y

COMPIexes :

33}
(iiyfac- [MO(CO)y(PCly), ]

Q) fac-[Mq(CO)3(PF

(ii) fac-[Mo(GO),(PCIPh,)]
(iv)fac-{Mo(CO),(PMe,)]
are in order |

(A (1) = (it) < (iii) < ()
B) (i) > (i) > (iii) > (iv)

(C) (@) = (ii) > (iif} < (iv)

(DY (i) = (ii) < (iii) > (iv)
Structures of a carborane with
forrmuta C,B,Hy is formally derived
from: ‘

(A) Close-borane

- (B)- Nido-borane

(C) Arachno-borane

(D) Conjucto-borane

“Inthe cluster[COS(CH)(CO)S]Obeying

18 elactron rule, the number of metai-
metal bonds and bridging ligands

respactively are: -

(A 3and1CH

(B8) 0and3CO

(14)

63.

64,

. 865.

(C) 3and1CO
(D) 64and1CH

The corfect .spinét structure'of
C0,0, is |

(A) (Co* Co™), (Co™) 0,

(B) (Co®)(Co** Co®") 0,

(€) (Co*)(2C0*") 0,

(D) (2C0*")(Co*") 0,

_In the molecular orbital energy level

diagram of CO, HOMO and LLUMO,
réspective[y are . |

(A) candn

(B) mando

(C) ocando

(D) mand= |

The number of spin allowed
transitions in octahedral high spin
complexes of d%d* and d° systems,
respectively are :

(A) 2,3and1

(B) 3,1and0.

(C) 0,1and?2

(D) 2,3and0

Contd;




67.

68.

QS -3AM2

- 66. The number of stercoisomers of G3.

trans—[(’ﬁo(’)lz'(a':an)zl+ is
(A) One

(B) Two

H{C) 'Three-

(D) Four

70,

The compound that will behave as an

acid in H2$O4 is:

(A} CH,COOH

. (B) HNO,

(C) C,HOH

(D) HCIO,

Among the oxides of nitrogen, N,O,,
N,O, and N,O, the compound(s)
having N-N bond is/are |

(A) N,0,and N0,

(B) | N,0,andN,O,

(C) N,O,andN,O,

(D) NZO5 only

(15)

71

The increasing order of n-acidity of

the ligands CF

oF 40 NEta, COand CzH 4

is _
(A) CO<C,F, <.CZH4 < NEt,
(B) C,F, <G H,<NEt<CO

(C) G,H,<NEt,<C,F,<CO

(D) NEty<CyH, < CyF,<CO

The species with highest spin only
magnetic moment valuesis :

(A) [CoiNO,) I |

(B) VCig

() [FeBr,*

(0) INEDTAY-

Three bands in electronic spectrum

of [Cr{NH,).I>" are the following :

3)6
0] 4A29-94T1g .
(i) A= Ty
(iii) 45294259
ld_entify the correct statement about

them:

(A) Intensity of 1 is lowest
(B)
(C)

(D)

Intensity of 3 is lowest
Intensity of 1 and 3 are simifar

Intensity of all are similar

(Turn over)




' 72. The total quantum number Jis agood

* quantum number for;
(A) s-block elements
(B) p-block elemenis _
(C) d-block elemants

(D) f-block elerents

73. H,C = C = CH, belongs to the point

group 75.

(A D,
®) Dy
() C,,

(D) Dy,
74. Given below the statements

: (1) Conjugate elements belong to

same class.

(2) Character of matrices for

conjugate elements are
- identical.

(3) Aconjugate element of a point .
group can be replaced by
another conjugate element on
applying an appropriate
éymmetry operator,

Qs - 3A/12 | (18)

(4) Ifaisconjugatetobihenbis

also conjugate to .
The correct statements are ;
® (), @ and (3
(B) (2), (3) and (4)

(€) (1), (2) and (4

©) (1), (2, (3)and {4)

In any finite point group

Dimensionality of a represeﬁtatioﬂ :

(1) équals the dimensionality of ihe
matrices instituting the
representation. -

(2) Equals the character under
identity.

(3) Equals the number of basis
_function_s used t.o‘find the

representation.

The correct statements are :

A AL

(B) Only(1)and (2)

(C) Only(1)and (3)

(D) Only(2)and (3)

Contd.




" 76. The point groups for the
compounds [(f:o(NHQ)\GCI]2+ and
cis-[Co(NH,) 4CI_?j+ is: |
{(A) Cg, andC,,
B) G, andC,, -
(C) C, andC,,
(D) C,, an;i Cop,
77. The crystal field. strengths‘df
- ligands CO, NH, and Cl follow the
qrder:
(A CO>CI>NH,
- (B) NH3>00>6|
(C) CO<NHg<Cl
- (D) CO>MH,>C

78. The crystal'field ground terms for a

d” octahédral complexis .
N Ay,
® 1,
© °Ty

1
© ',

Q8 - 3A/12

79. Mulliken symbol for the irreducible
representation T’ for-the following

point group C

e
O
=

9.

n 2
I 1  -1 -1 1 - -
® Ay
®) Ay,
©) By,
() .BZQ

80.  The compounds (1) KZBa[Cu(NOZ)G]
“and (2) QszBa[Cu(NQZ)S] exhibit
tetragonal elongation énd te%ragona!
compression jre-sﬁecti\.fely. The
unpaired eleéfroné in 1 ar\:d‘ 2 ére

. found, respectively in orbitals :

2 ‘ .
A dZandd,

(B) d.

2
XZ,x2 and dz

2 2
(©) dZand d2

®) d. . andd

X2,x2 x2x2 -

(Turn over)




81, Electronic spectrum of [V(H,0),]** 83,

exhibits two absorpti.on bands
v,(17,800°™%) aind v,,(26,700°™"),
The ccrreci assignments of the
“bandé, respectively, is ;
W) vy =T F) - *T, (Fy and
v, = ‘*T.1 oE)= 7T, (P)
®) v, = 3T, (F) - °T, (P) and
: v2$3f1g(F)ma3T29(P)
{0) vy =38, (F) > *T (F) and
vy = Py (F) -2 T (P)
© v, = 3P (F) > 5T (P) and
vy = 3, (F) = T, (F)
82, Among the fol!dwing the ccrreqt
statementis .
N CHis ispiobél to Ca(CO),
(B) CH,is isolobal to NI(CO),
CH is isolobal to Fe(CO),

(D) CH, is isolobai to Mn(CO),

G- 3AM2 (18)

84.

- (©

86,

Among the following the cos‘fe“sct |
combination of complex and its calor
is |

A [Cu(CN;)Z'mRed |
(B) [Fé(HZO)S(SCN)];~=- Yellow
©) [COCI4]2-“mBlue

(D) [Cu(NH,), 2" — Pink

In BHg the number of 3c-2¢ 'BEB' )

bond(s) present is/are :

(A) Zero

(B) Cne

Two

(D) Three

In bis-(dimethylglyoximito)nickai(ll)
the number of Ni-N, Ni-O and

intramolecular hydrogen bBonds,

respactively are ;

A) 4,0and?2

B) 2,2and2
(C) 2,2and0
(D) 4,0and1

Ceantd,




86.

a7.

- 88.

A

(©)
(D)

The initial product of fusion. of
chromite. with sodium carbonate
is
(A) NazCrO4 and Fezo3
(B)
()

(D)

Naz(;r207 apd Fe203
Cr2(003)3 and F@(OH)3

Naz(.‘.ro4 and Fe(OH)3

Among F~, Na*, 0% and Mg?~ions

those having the hi.ghe'st and Iowést

ionic radii respectiyely are:
Na*and F~

(B) 0% andMg?
0% and Na*™

F-and Mg®™

The spin-only magnétic moment and

- 89,

the Russel-Saunder ground state for |

[FeClJ*"ion respectively

(A) 4.9BMand D
(B) 4.9BMand°D
(C) 4.9BMand’F.

(D) 4.9BMand“F

QS ~ 3A/12

(19)

20.

o1.

- ®

Ambng'the complexés ; -
(1) [Co(en),**

(2) Trans-CoCl,(en),]"
(3)

the chiral one(s) isfare :

[CHEDTA)

(A) - (1)and (2) -
(B) (2)and(3)

©)
(D) Allofthese

(1) and (3)

The compound that undergoes
oxidative addition reaction is

presence of H, is :

A Mn(CO)I

(®)  In*C4HIMo(CO),I”
(C) ICKCO)PPh,).|

(D) [n5—05H5)2R9H1

The resonance Raman stretching
frequency of O, is 1580 em™!. The.
same for O, bound to oky-

hemoglobin is closeto:
(A) 1600 om™!

1900 cm™
(C) 800cm™

() 1100 cm™

( Turn over)




92. Inthe following reaction: g5
[PtCI, 1>+ NO,—Aand A+NH;—B
Thenthe compound B is
(A) trans-PtCL(NH,),]

(B) cis-[PLCL(NO,), I~
(C) trans{PICL{NO)NH )"
(D) ¢is-[PLCI(NOYNH, )™

93. Among the following those can actas

Mossbauer nuclei are
My

57 : o
(2) Co 06

@) 5Fe
(A (hand )
(8) (1)and(3)
(C)' (2)and (3)
(D) Allofthese
04, Which of the following will result in
deviation from Beer's law ?
(1) Chénge in refractive
‘indexor medium

(2) Dissociation analyte on
difution

(3) Polychromatic light
(4) © Path Iength of cuvette
(A) (1), (2)and (3)
(B) (2).(3)and(4)
(C) (1),(3)and (4)
@) (1) (2)and (4)

QS-3AM2 ©(20)

. EPR spectrum-of a free radical

containing nuclei with nonzero
nuclear spin is obtained. If the
following selsction rules are

observed:

(A) Am =0,4_,=0
(B) Am =1, AL=0
(C) Ams?t1,qﬂ=£j

(D) Am=0,A,=%1

. Consider the foilowing parameters

with reference to the fiuorescence of

a‘solution : |

(1) Mo,llar absorptivity of fluores-
cent molecules |

(2) Intehsity of light source uséd fof
excitation

(3) Dissolved oxygen

"~ The -correct answer for-thé

- enhancement of fluorescence with

the increase in these parameters is/

are .

(A (and(2)
B) (2)and(3)
© (and(3)
®) @ only

Contd.




97. Given v('H) =2.7 x 10%1"s™. The
| resonance frequency of proton in
magnetic field of 12.6T is close to:
(A) 60MHz
(B) 110MHz
(C) 540 MHz
(D) 780 MHz

08. ';The spectroscopic technigue that
can distinguish unambigously
between trans-1,2-dichloroethylene
and cis-1,2-dichloroethylene without
any numerical caicuiation is ©
(A) Microwave spectroscopy
(B) UV-Visible spectroscopy |
(C) X-ray photoelectron spectro-

SCOpY

(D) «y-ray spectroscopy

99.

100.

Numbér of signals inthe 2G{H) NMR
spectrum of (R)-4-maethylpentan-2-ol
are: |
A 3
B) 4
(C) 5
(D) '6l
The irreducible representation (IR)s
of C2h point group areAg. BQ,AU and
B, The Raman active modes of

trans-1,3-butadiene belongs to the

A) Ag andA |
(B) Bg and B,
(C) Ag and Bg

(D) A, ’and B,

BRANEBEARZERBEREER

QS ~ 3AM2

(21)
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